

117 East Columbus Avenue Suite 100 • Bellefontaine, Oh 43311 commissioners@logancountyohio.gov (office) 937-599-7283 • (fax) 937-599-7268

Joe M. Antram • Mark A. Robinson • Michael E. Yoder

David Henry, County Administrator david.henry@logancountyohio.gov 937-292-4008 DeDe Doss, Clerk Administrator ddoss@logancountyohlo.gov 937-599-7284 Jenny Richardson, Human Resources Director jrichardson@logancountyohio.gov 937-599-7280

Resolution No. 73-24

The Logan County Board of Commissioners met in regular open session on this date of March 19, 2024 with the full board present.

Mr. Mark Robinson moved that the following resolution be adopted:

RE: AWARD BID TO SHELLY COMPANY 2024 TOWNSHIP PAVING PROJECT-ENGINEER

WHEREAS, bids were received on March 12, 2024, for the 2024 Township Paving Project, and

WHEREAS, one bid was received from the Shelly Company in the amount of \$560,537.40, and

WHEREAS, the bid has been reviewed by the Logan County Engineer and a recommendation has been made to accept the bis of the Shelly Company and enter into a contract for the same.

THEREFORE, BE IT HEREBY RESOLVED, by the Logan County Board of Commissioners to accept the bid of the Shelly Company in the amount of \$560,537.40 and enter into a contract for the same.

Mr. Joe Antram seconded the motion.

Roll call resulted as follows:

Mr. Michael E. Joder, President

Mark Robinson, Vice President

Mr. Joe Antram. Member

I, De Doss, Clerk/Administrator, hereby certify this to be a true copy of the proceedings as taken from the minutes of the meeting of the Logan County Commissioners on this date of March 19, 2024.

De De Doss, Administrative Clerk



MAR 14 2024

Logan County Commissioners

OFFICE OF THE LOGAN COUNTY ENGINEER P.O. BOX 427 1991 COUNTY ROAD 13 BELLEFONTAINE, OH 43311

www.lceo.us

SCOTT C. COLEMAN, P.E., P.S. LOGAN COUNTY ENGINEER

March 13, 2024

The Honorable Board of Logan County Commissioners 117 E. Columbus Avenue, Suite 100 Bellefontaine, OH 43311

Re:

2024 Township Paving Project

Tuesday, March 12, 2024 at 10:00 A.M. - Bid Opening

APPROVED BY THE BOARD OF LOGAN COUNTY COMMISSIONERS

Fax: (937) 599-2658

Telephone: (937) 592-2791

MOTION_____

PER RESOLUTION#

2ND

DATED 3/9/34

Gentlemen:

I have reviewed the bid which was received and opened in your office at the above date and time. The low and only bid of The Shelly Company appears to be responsive meeting all specifications. The bid tab is as follows.

		Amount	Method of Payment
The Shelly Company	Responsive Bid	\$ 560,537.40	Auto & Gas and Sales Tax

Therefore, I am recommending that your honorable board adopt a resolution awarding the bid to The Shelly Company, 1700 Fostoria Avenue, Suite 200, P.O. Box 3100, Findlay, Ohio 45840, in the amount of five hundred-sixty thousand, and five hundred thirty-seven dollars, and forty cents (\$560,537.40) and enter into a contract for the same.

In accordance with ORC 9.24, we have checked the Auditor of State's Unresolved Findings for Recovery Database and the federal system for awards management. The Shelly Company was not listed and we have retained the certified search confirmation page in the project file.

Respectfully submitted,

Scott C. Coleman, P.E., P.S. Logan County Engineer

SCC/wtb

Solicitation Information

Logan County Engineer's Office

Solicitation Number

2024 - Logan County, Ohio - Township Resurfacing Program

Deadline

03/12/2024 10:00 AM EDT

Advertised

02/27/2024 10:00 AM EST

Description

Logan County Engineer is administrating the combined township locally funded resurfacing program for 2023. The bid request is for resurfacing various township roads throughout Logan County, Ohio.

Estimate: \$ 615,204

Location(s)

Logan, Ohio

Bidders

Business Name	Address	Phone
Shelly Company - Northwest	1700 Fostoria Ave Findlay, OH 45840-6240	(419) 422-8854 x3401
1 Bidder		

Item	Quantity	Shelly Company Price	- Northwest Extension
Union			
10 Tack gal	751,0000	\$2.75	\$2,065.25
20 402 LVT PG 58-28 (as per plan) ton	1,117.0000	\$118.00	\$131,806.00
30 617 Berm, Type A ton	297.0000	\$52.00	\$15,444.00
40 Mill Butt Joint ea	2.0000	\$475.00	\$950.00
50 Rejuvenating Sealer sq yd	10,010.0000	\$1.24	\$12,412.40
Richland			
60 Tack gal	103.0000	\$2.75	\$283.25
70 404 LVT PG 58-28 ton	117.0000	\$150.00	\$17,550.00
80 617 Berm, Type A ton	51.0000	\$109.00	\$5,559.00
100 Mill Butt Joint ea	2.0000	\$475.00	\$950,00
Jefferson			
110 Tack gal	1,038.0000	\$2,75	\$2,854.50
120 404 LVT PG 58-28	1,158.0000	\$118.00	\$136,644.00

Item	Quantity		ny - Northwest
nein	Quantity	Price	Extension
ton			
Monroe			
130 Tack gal	520.0000	\$2.75	\$1,430.00
140 404 LVT PG 58-28 ton	580,0000	\$127.00	\$73,660.00
150 617 Berm, Type A ton	247.0000	\$64.00	\$15,808.00
Liberty			
160 Tack gal	198.0000	\$2.75	\$544.50

Item	Quantity	Shelly Compa Price	any - Northwest Extension	
.iberty				
170 104 LVT PG 58-28 on	226.0000	\$155.00	\$35,030.00	
80 317 3erm, ype A on	113,0000	\$69.00	\$7,797.00	
Vashington				
90 ack at	518,0000	\$2.75	\$1,424.50	
00 04 LVT PG 58-28 on	589.0000	\$150.00	\$88,350.00	
10 IIII Butt oint a	21.0000	\$475.00	\$9,975.00	
0 Items	Totals:		\$560,537.40	